Problem 6—Stamps

Mail doesn't arrive with any regularity on the idand—only stray battles with notes—so Ginger Grant hasn't been
receving the fan mail to which she has become accustomed. Ginger imagines the reply mail she used to send. She
kept on hand at al times asupgdy of 6¢, 9¢, and 20¢stamps, which she would use to post mail. By using dfferent
combinations of stamps, she muld make virtually any amount of postage she wanted. 44¢, for example, can be
made from 4 6¢stampsand 1 20¢stamp. However, after much thought, Ginger reali zed that thereisnoway at all to
make eactly 43¢. And while, to be quite frank, Ginger simply isn't bright enough to reali ze this, 43¢isthe largest
possble value that cannot be made with 6¢, 9¢, and 20¢stamps. Y ou are to generalize this. Given the monetary
values of threestamps, you are to determine the highest value that cannot be exactly covered. Alternatively, you
may determine that all values can be cvered or that there are an infinite number of values that cannot be.

INPUT SPECIFICATION. Eachinput casewill consist of threeunsigned dedmal integersinclusively between 1
and 100representing representing the values of the ssamps. The integers may be precealed and/or foll owed by any
number of spaces and will be separated by at least one space. Each input case will be foll owed by at least
one<EOL N>. Following thelast test case will be asingleline mnsisting of O followed by <EOLN>. Thiscase
signalsthe end of input and is not to be processd.

OUTPUT SPECIFICATION. The output solutions sould appear in the same order astheir corresponding input
cases. Each solution should bein one of the threeforms, whichever isappropriate: “Thelargest postage that cannot
be mveredisx.” (with x being the appropriate numeric value). “All postage @an be mvered.” “There are an infinite
number of postages that cannot be vered.” Format counts! Be sure your output lines are spell ed exactly corredly!
Each lineisterminated by a single <EOL N>.

SAMPLE INPUT.

6-9-20<EQLN>
9-18-15<EQLN>
O<EQOLN>

<ECF>

SAMPLE OUTPUT.

The-largest-postage-that-cannot-be-covered-is-43.<ECLN>
There-are-an-infinite-number-of-postages-that-cannot-be:covered.<EOQLN>
<EOF>



